

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBE 9370Y

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT BUMPER	DENTED	725.60	725.60
2	FRONT BUMPER SIDE BRACKETS @\$245.30	NOT NECESSARY	490.60	-
1	FRONT GRILLE	MISSING	569.80	569.80
1	FRONT GRILLE LOGO	MISSING	95.30	95.30
1	FRONT CABIN ROLLER	NOT NECESSARY	2,879.40	-
1	FRONT PANEL	DENTED	1,245.80	1,245.80
1	FRONT PANEL EMBLEM 'DYNA'	NECESSARY	115.30	115.30
1	FRONT WIPER PANEL	TO REPAIR SEE LABOUR	378.50	-
1	FRONT WIPER PANEL CENTRE BLACK GARNISH	CUT	185.30	185.30
2	FRONT WIPER PANEL SIDE BLACK GARNISH @\$86.20	CUT	172.40	172.40
2	FRONT CORNER PANEL @\$225.60	N/S DENTED	451.20	225.60
2	HEAD LAMP @\$1023.90	CRACKED	2,047.80	2,047.80
2	HEAD LAMP LOWER RUBBER @\$25.70	NOT NECESSARY	51.40	-
4	FRONT BRAKE PIPE @\$323.40	NOT NECESSARY	1,293.60	-
1	DASHBOARD	NOT NECESSARY	1,845.30	-
1	AIR CON BLOWER MOTOR	CRACKED	1,394.10	1,394.10
1	AIR CON COOLING COIL	CRACKED	2,439.30	2,439.30
2	AIR CON PIPE @\$475.60	BENT	951.20	594.00
2	FRONT STEP PANEL GARNISH @\$394.70	NOT NECESSARY	789.40	-
2	FRONT DOOR @\$1690.10	N/S BUCKLED	3,380.20	1,690.10
2	FRONT DOOR INNER RUBBER @\$199.70	NOT NECESSARY	399.40	-
4	FRONT DOOR HINGE @\$98.70	NOT NECESSARY	394.80	-
2	FRONT DOOR CHECKER @\$138.10	NOT NECESSARY	276.20	-
2	FRONT DOOR WEATHER STRIP @\$199.40	NOT NECESSARY	398.80	-
2	FRONT DOOR INNER LOCK @\$365.80	NOT NECESSARY	731.60	-
2	FRONT DOOR LOCK CATCH @\$72.10	NOT NECESSARY	144.20	-
2	FRONT DOOR INNER TRIM BOARD @\$942.60	NOT NECESSARY	1,885.20	-
2	FRONT DOOR GLASS REGULATOR @\$498.50	NOT NECESSARY	997.00	-
1	REAR NUMBER PLATE HOLDER	BENT	196.70	196.70
1	REAR NUMBER PLATE LAMP	NOT NECESSARY	76.40	-

Report Ref No. CS/INC24110236/Avh3e2(N)



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	TAIL LAMP @\$245.30	NOT NECESSARY	490.60	-
2	TAIL LAMP SUPPORT BRACKET @\$186.40	NOT NECESSARY	372.80	-
1	REAR EXHAUST	NOT NECESSARY	896.70	-
1	REAR EXHAUST BRACKET	NOT NECESSARY	62.60	-
1	REAR EXHAUST MOUNTING	NOT NECESSARY	32.10	-
1	SPARE TYRE CARRIER	NOT NECESSARY	345.60	-
1	SPARE TYRE CARRIER BRACKET	NOT NECESSARY	125.30	-
1	AIR CON CONDENSER (ADDITIONAL)	DENTED	1,105.30	1,105.30
1	CONDENSER FAN ASSY (ADDITIONAL)	NOT NECESSARY	625.90	-
2	CONDENSER BRACKET @\$65.30 (ADDITIONAL)	NOT NECESSARY	130.60	-
1	FRONT CABIN FLOOR PANEL (ADDITIONAL)	TO REPAIR SEE LABOUR	1,158.90	-
1	DASHBOARD REINFORCEMENT SUPPORT (ADDITIONAL)	DENTED	458.20	458.20
1	FRONT DASHBOARD (ADDITIONAL)	NOT NECESSARY	1,258.30	-
2	FRONT WIPER ARM @\$145.80 (ADDITIONAL)	NOT NECESSARY	291.60	-
2	FRONT WIPER ARM COVER @\$19.80 (ADDITIONAL)	NOT NECESSARY	39.60	-
1	FRONT WIPER ARM MOTOR (ADDITIONAL)	NOT NECESSARY	752.30	-
2	FRONT WIPER NOZZLE @\$92.50 (ADDITIONAL)	N/S CRACKED	185.00	92.50
1	BRAKE BOOSTER PUMP (ADDITIONAL)	JAMMED	1,263.70	1,263.70
1	BRAKE MASTER PUMP (ADDITIONAL)	NOT NECESSARY	897.50	-
1	FRONT CABIN REAR LOCK BRACKET (ADDITIONAL)	NOT NECESSARY	345.80	-
	LESS 25% DISCOUNT		-9,460.05	-3,654.20
			28,380.15	10,962.60
	SPECIAL NETT ITEMS			
1	FRONT NUMBER PLATE (SN)	BENT	50.00	30.00
1	SET FRONT GRILLE CLIP (SN)	NECESSARY	40.00	20.00
1	FRONT PANEL SEALANT (SN)	NECESSARY	150.00	60.00
1	SET DASHBOARD CLIP (SN)	NOT NECESSARY	80.00	-
1	FRONT COMPANY STICKER (SN)	NECESSARY	450.00	280.00
2	FRONT DOOR PANEL MARICIR @\$30.00 (SN)	N/S NECESSARY	60.00	30.00
1	REAR NUMBER PLATE (SN)	DENTED	50.00	30.00
1	SET REAR DOORS COMPANY STICKER (SN)	NECESSARY	1,200.00	700.00
1	REAR SPARE TYRE (BIG) (SN)	NOT NECESSARY	450.00	-

Report Ref No. CS/INC24110236/Avh3e2(N)



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR SPARE TYRE (SMALL) (SN)	NOT NECESSARY	380.00	-
2	REAR BOX DOOR (SPECIAL TYPE) (COMPLETE SET) @ \$3000.00 (SN)	N/S CRACKED	6,000.00	2,300.00
4	REAR BOX OPEN DOOR HINGE (SPECIAL TYPE) @ \$160.00 (SN)	NOT NECESSARY	640.00	-
2	REAR BOX OPEN DOOR LOCK CATCH (SPECIAL TYPE) @\$150.00 (SN)	N/S DENTED	300.00	150.00
1	REAR BOX OPEN DOOR '70KM/H' (SN)	NECESSARY	30.00	15.00
1	REAR LOWER SAFETY BAR (SPECIAL TYPE) (SN)	BENT	850.00	850.00
2	REAR PROTECTOR BAR RUBBER (SPECIAL TYPE) @ \$280.00 (SN)	CUT	560.00	550.00
1	REAR BOX OPEN DOOR FRAME (STANDARD STEEL) (SPECIAL TYPE) (SN)	DENTED	3,000.00	1,500.00
1	REAR CARRIER LOWER END MEMBER (SN)	DENTED	1,200.00	1,000.00
1	REAR FREEZER AIRCON PIPING HOUSING (SN) (ADDITIONAL)	CRACKED	650.00	350.00
1	SET BRAKE FLUID (SN) (ADDITIONAL)	NECESSARY	80.00	40.00
			16,220.00	7,905.00
	<u>LABOUR</u>			
	TO PANEL BEAT, WELD, CUT, ADJUST, KNOCK. (FRONT). INCLUSIVE OF THE REPAIR OF FRONT WIPER PANEL AND FRONT CABIN FLOOR PANEL.		1,800.00	1,200.00
	TO PUTTY, SPRAY PAINT, POLISH WAX. (FRONT)		1,800.00	1,200.00
	TO SPRAY TUFF COAT. (FRONT)		250.00	60.00
	WIRING, BULB CHECKING. (FRONT)		80.00	30.00
	CONDUCT WATER TER LEAKAGE TEST. (FRONT)	NOT NECESSARY	80.00	-
	REFOCUS HEADLAMP BEAM. (FRONT)	NOT NECESSARY	60.00	-
	TRANSFER 2 FRONT DOOR MECHANISM. (FRONT)	NOT NECESSARY	300.00	-
	REMOVE AND REFIX AIRCON BLOWER, COOLING COIL AND REFILL AIRCON GAS. (FRONT)		250.00	200.00
	REMOVE AND REINSTALL DASHBOARD. (FRONT)		650.00	250.00
	TO PANEL BEAT, WELD, CUT, ADJUST, KNOCK. (REAR)		1,600.00	900.00
	TO PUTTY, SPRAY PAINT, POLISH WAX. (REAR)		1,600.00	800.00
	TRANSFER REAR DOOR MECHANISM. (REAR)		450.00	160.00
	REAR CHASSIS ALIGNMENT. (REAR)	NOT NECESSARY	250.00	-

Report Ref No. CS/INC24110236/Avh3e2(N)



GRAND TOTAL

Qty

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST	Reg. No. 19-9607198-R	Page No.:4 of 4		
Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)	
		120.00	60.00	
		9,290.00	4,860.00	

53.890.15

23.727.60

1		
	RECOMMENDED COST OF LUMP SUM REPAIRS	19.000.00
		10,000.00
	(TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)	
	(10 110 1 NZ 70002 ZN1 00 NZ 1110 N) (00 N N N N N N N N N N N N N N N N N N	

Report Ref No. CS/INC24110236/Avh3e2(N)

TOTAL FOR SPARE PARTS: \$ 44,600.15 \$ 19,048.60 TOTAL FOR LABOUR: \$ 9,290.00 \$ 4,760.00 TOTAL REPAIR COST: \$ 53,890.15 \$ 23,808.60

BRAKE BLEEDING. (ADDITIONAL)

Description of

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

K.K.LAU CPT(RET)

BEng(Hons), B.Bus, MBA, PEng, PE, MInstAEA, MASME, MIRTE

REGD Auto Consultant-SAE, Licensed Appraiser

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.